Kamke Example 11
> wth(Exterior):
Exterior calculus package, version 1.12 (30 Oct 2009).
Copyright 2006-2009 by Mark Hickman. All rights reserved. (1)

_> deq: =Di ff (y, X, X) =-a*x"r*y”"n;
02 ron
deq:=—5y=-axy (2)
ax

> symmetry, eq: =fi nd_symmetry(deq, Constrai nt s={a<>0, n<>0, n<>1},
| casesplit):
| Constraints remove the linear cases.
> casepl ot (eq, pi vots);
========= Pjyots Legend =========
pl=-2+n
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p3=r(r+2) (r+n+3)
péd=r(r+2)
pS=r(l+n)
pé=r
p7=r(7Tr+15) (7r+20) (r+5) (r+2)
pS8=r(7Tr+15) (7r+20) (r+5)
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> group_size(eq);

1 = [Finite=1, Infinite=[0]], 2 = [ Finite =2, Infinite = [0]], 3 = [ Finite =1, Infinite=[0]],
4 = [ Finite =2, Infinite=[0]], 5 = [ Finite =2, Infinite=[0]], 6 = [ Finite =1, Infinite

=[01]], 7 = [Finite= 1, Infinite=[0]], 8 = [ Finite =3, Infinite=[0]], 9 = [ Finite=1,

Infinite=[0]], 10 = [ Finite= 1, Infinite=[0]], 11 = [ Finite =2, Infinite=[0]]

;Note that computing the group size does not require solving the determining equations.

| > soln:=rifsol ve(eq):

| > G =one_paraneter(symetry, soln):

> for i from1l to soln[casecount]-1 do i=Fi],Comutator(di][1])
od;
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;For case 11 we have 4 subcases.
> eq[1l1l][Constraint];

> solve(%r);
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=> for i in %do i=F11][op(i)], Commutator( 11][op(i)][1]) od;
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